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Question Number : 1 Question Id : 3666943021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Options:

3666049431  only (51) s true
3666949432.

3666949433 both (51) and (52) are true
seandncsy TSR -

Question Number : 1 Question Id : 3666943021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT B f(x) =~ , W8T [ x| A QUi > x 8, & Vid au1 uiER HHE:

y

TH=T A TYT B 1 A Syl

(S1) : AnB=(1,)-N dYl

(52) : AuB=(1, »)

H
Options :
3666049431, Pad (S1) {ed ¢
3666949432. e (52) 30 8
3666949433, &I (S1) TUT (52) & e
A4 (S A8l (S2) T ¢
3666949434. SHTT (52) FAE

Question Number : 2 Question Id : 3666943022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a group of 100 persons 75 speak English and 40 speak Hindi. Each person
speaks at least one of the two languages. If the number of persons, who speak
only English 1s @ and the number of persons who speak only Hind11s ff, then

the eccentricity of the ellipse 25( B4x* + a*y* ] —a* B is

Options:

N rr AN AT ]I.
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-.J'iIEI

3666949436, 12

3666949437, 12

3666949438, 12

Question Number : 2 Question Id : 3666943022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
100 Sgfdad] & U JHg H 75 3ol aldd & aul 40 fédl 9iad & | Yl aidd
3 <1 WTWI3{l 7 ¥ HH U $H U diadl ¢ | UG Had s diaq drel fead]
& G ¢ AYI Had [l sia- ard Afeadl S GB1 g ¢, d dbgd
Eﬁ(ﬁgxﬁ + o’y ] = Hzﬁﬂ 3 et G

Options:

3666949435, |

3666949436, 12

3666949437, 12

3666949438.

~
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Question Number : 3 Question Id : 3666943023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

leet a =56 be two non-zero real numbers. Then the number of elements 1n the

. = R | g ] » |
set X ={zel fRE(ﬂE +bz ]|= a and Re-( bz" + ﬂE] = b/ is equal to

Options:
3666949439,
3666949440,

3666949441, -

3666949442, .

Question Number : 3 Question Id : 3666943023 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AAT a=b & YAR dRAfAS VBT §1 @ TS X = (2 C:Re(az’ +bz)=a
Ul Re(bz” +az|=b} T audl 1 &

Options:

3666949439,

a
&collegedumaa
India’s largest Student Review Platform

S



3666949440,

3666949441, 2

3666949442,

Question Number : 4 Question Id : 3666943024 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let P be a square matrix such that P“=T-P. For a, B.yv.0 elN, if
P* + PP = yI -29P and P* - PP =51-13P, then a+ f+y—a0 18 equal to

Options:
3666949443,
24
3666949444,
2
3666949445, “-
3666949446, °

Question Number : 4 Question Id : 3666943024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0

Correct Marks : 4 Wrona Marks : 1




O P U6 9 3egg ¢ ogd ot P2=1-P Bl @, 8,7, 6 <N, & forU ofg
P?+ PP =yI-29P @l P* - PP =51 -13P8, M a+f+y -5 TN &:

Options:

3666949443, U

3666949444, -

3666949445,

3666949446. -

Question Number : 5 Question Id : 3666943025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the system of equations
X+y+2=0
x+2v+az=10

x+3y+bz=f, which one of the following 15 NOT true?

Options:

System has a unique solution for @ =-3, f=14.
3666949447,

Syvstem has no solution for ¢ =3, f=24.
3666949448.

System has infinitely many solutions for @ =3, f=14.
3666949449,
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System has a unique solution for @ =3, f#14.
3666949450.

Question Number : 5 Question Id : 3666943025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GHISHU [T
X+y¥+2=0
x+2y+az=10

x+3y+5z=4,® (AU Fg 0 9 S 91 97 781 82

Options:
2666040447 T=" £ =14 & foe gHiH0 A &1 fgdia ga e
a =3, B =24 & g gHiev 6™ $1 1S 8d ol ¢
3666949448,
a =3, f=14 & U S AP & sFHded &
3666949449,
=3, B+ 14 & [0 JHIH [ &1 Aedid §
3666949450, Sais " bl

Question Number : 6 Question Id : 3666943026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Among the statements:
(S1) : 2023°"*= -1999""=* is divisible by 8

(S2) : 13(13)" —=11n-13 is divisible by 144 for infinitely many n e N

Options:

3666949451, O™ (51) 18 correct
3666949452, 01 (52) 18 correct
3666949453 Poth (81) and (82) are incorrect
3666949454, Poth (51) and (52) are correct

Question Number : 6 Question Id : 3666943026 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
YT
(S1) : 20232022 _19992022 8 ¥ fqurd §
(52) : 13(13)" -11n-13 3Fd ne N & AT 144 G fAURT B
e

Options :

3666949451. - (S1) ¥l ¢
3666949452, (52) el %
2QRAARONQALRR
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(S1) TYT (S2) ST 7Tad &

(S1) TYT (S2) ST el &
3666949454,

Question Number : 7 Question Id : 3666943027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" L A\ ) ’ |
If the coefficients of ' in (m:"j +—] and x™' in Lﬂ.I —~ = J are equal,
2bx | by
then
Options:
3666949455, ©2ab=128
vlabh =245
3666949456, O @b =243
243ab =64
3666949457,
T29ab = 32
3666949458,

Question Number : 7 Question Id : 3666943027 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11

HE[UI3+EJ H x’ aul {ﬂ:.::— : J ﬁrTa’?WW%,Eﬁ

5
3bx”
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Options:

32ab =T29

3666949455,

3666949456, Ciab=243

243ab = 64
3666949457/.

T209abh =32

3666949458.

Question Number : 8 Question Id : 3666943028 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All the letters of the word PUBLIC are written in all possible orders and these
words are written as in a dictionary with serial numbers. Then the serial

number of the word PUBLIC 1s

Options:

3666949459, '
3666949460, O
3666949461,
3666949462

=gy - - L
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PUBLIC Wisg & |41 31&RT &I Tt §yq oo  foraT Wrar € duT 37 Usal &l TG hIy
& 3R H JBAT & 1Y forar o1 ¢ | df Uss PUBLIC DI hH HEAT §:
Options:

576

3666949459,

3666949460, 18

3666949461. s

582
3666949462, O

Question Number : 9 Question Id : 3666943029 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 L~
* .!u-l.“ﬁ.l ’
(2 ~9 J‘f- is equal to

Options:

3666949463.

3666949464, U

'|I—I-

3666949465, Y~
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2
3666949466. "~

Question Number : 9 Question Id : 3666943029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

\ y,
Options :
3666949463, |
3666949464,

1
3666949465. V2

3

3666949466.

Question Number : 10 Question Id : 3666943030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If gecd (m, n) =1 and
12 —22 432 — 42 4. +(2021) —(2022)" +(2023)" =1012 m?n
then m* —n“ is equal to

Options:

1AM
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3666949468, =<V

3666949469, UV

3666949470, LoV

Question Number : 10 Question Id : 3666943030 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hﬁigcd (m, n) = 1 %’Hiﬁ
12922 437 _4% 1 +(2021)° —(2022)° +(2023)" =1012 m?n

%r al m? —n? W%—

Options:

3666949467.

I
-2
-

3666949468.

3666949469, UV

3666949470, 1oV

Question Number : 11 Question Id : 3666943031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Let f(x) be a function satisfying fx }+ flz— x)=  wxelR.

'.-

Then Iﬂ )sinxdx 1s equal to
0

Options:

2 7
3666949471.

.'-'.1."2
3666949472,

.

€)

3666949473, ~

[

Jb

3666949474,

Question Number : 11 Question Id : 3666943031 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHI TS Bad [(x) S AU f(x)+ (7 -x)=7", Vx e REI I

]-f{.:t:}sin_rdx IR ¢:

Options:

2 7=
366694947/1.

ﬁ
3666949472, 1
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i
‘)

3666949473, ~

L

b

3666949474,

Question Number : 12 Question Id : 3666943032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the solution curve f(x, y)=0 of the differential equation
1+ log, 1]':,—: -xlog, x=e”, x >0, passes through the points (1, 0) and (&, 2),
then a”™ 1s E.‘quz-ll Lo

Options :

3666949475, °©

3666949476, °©

3666949477, ©

3666949478. ©

Question Number : 12 Question Id : 3666943032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a
&collegedumaa
India’s largest Student Review Platform

S



fe; fdhe YHIBIT (1 + 1ﬂg+,_r}% ~xlog,x=e", x>0, PIGATD f(x,y)=0
Ly

fefgafi (1, 0) TYUT (e, 2) PR A1 G, W K B

Options:

3666949475, °©

J2e
3666949476, °©

. N2
ol
3666949477/. &

3666949478, ¢

Question Number : 13 Question Id : 3666943033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 4 s 2 2 ~ g
If the tangents at the points P and  on the circle x™ + ¥* -=2x + y =5 meet at
'u"

the point HL -? E], then the area of the triangle PQR 1s:

Options :
3666949479.

13

3666949480. 2

oo | S

3666949481.
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il
3666949482,

Question Number : 13 Question Id : 3666943033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe gd %+ y* - 20+ y =5 P [dg3fl p U1 Q W WY 1@ feig n[% 2] R i
g, dl BYS PQR &1 8354 &
Options:

13
3666949479,

3666949480,

oG | On

3666949481.

= | O

3666949482.

Question Number : 14 Question Id : 3666943034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The area bounded by the curves y =|x -1|+|x-2| and y=3 is equal to

a
&collegedumaa
India’s largest Student Review Platform

S



Options:

3666949483.

3666949484,

3666949485, °

36669494860.

Question Number : 14 Question Id : 3666943034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ahl y =[x —1|+|xr - 2| TU y=3 Y IRES &7 FT &5 ©:

Options :
9
3666949483.
3666949484,
3666949485, °
6
3666949486,

Question Number : 15 Question Id : 3666943035 Question Type : MCQ Option Shuffling : Yes Is

Niiectinn Mandatarv * Nn Calrnillatnr * NNnne Recsnnnea Time * Nl A Thinkk Time * N A Minimiim
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A plane P contains the line of intersection of the plane r(.r + ] +§.): G and
5 I[:.?".r - ?_,r - He} =-n. If P passes through the point (0, 2, =2), then the square of
distance of the point (12, 12, 18) from the plane P 1s

Options :

-
il
] |

3666949487.

3666949488, <10

620
3666949489,

1240
3666949490.

Question Number : 15 Question Id : 3666943035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U el P H, GHAGH 7-(i +j+k)=6 TU F-(2 +3j +4k)=-5 BI Uidede @l

fyd g1 af p, 15 (0, 2, -2) W gIAR ST &, d1 g (12, 12, 18) Bt GHAW P A gl &1
Tl &

Options:

3666949487. "

]
1

3666949488, 910

620

QAAAAOQAQARQ
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1240
3666949490.

Question Number : 16 Question Id : 3666943036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the line L. pass through the point (0, 1, 2), intersect the line
x—=1 y=2 2z-3
Ij 1}% _E'i and be parallel to the plane 2x+v—-8z=4. Then the

distance of the point P(1, -9, 2) from the line L 1s

Options:

3666949491, Vo4

3666949492,

74

3666949493,

3666949494, v

Question Number : 16 Question Id : 3666943036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
y=2

WWL%U12%@E§W%WI_ 3 275 & @redl & qul

HHAA 2x+y—3z=4 & GHIR g1 @l fdg P(1, -9, z}aﬂ%@uﬁgﬂ%
&collegeduniaa
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3666949491, o4

69

3666949492.

74

3666949493,

3666949494, ¥

Question Number : 17 Question Id : 3666943037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The sum of all values of @. for which the points whose position vectors

are t —2j+3k, 2i -3j+4k, (e+1)i +2k and % + (@ -8)j+ 6k are coplanar, is

equal to

Options:

3666949495, ~©

3666949496, -

3666949497,
6

3666949498

Question Number : 17 Question Id : 3666943037 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g & GH 7, foFd fow fufd afdenl /- 25 + 3k, 20 -3) + 4k, (@ +1)i + 2k TUT
% +(a -8) ) +6k & fdg g &, H1 417 SRR &

Options :

3666949495, ~

3666949496, -

3666949497,
E,".

3666949498.

Question Number : 18 Question Id : 3666943038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the vectors a, b, ¢ represent three coterminous edges of a parallelopiped
of volume V. Then the volume of the parallelopiped, whose coterminous edges
are represented by @, b +¢ and a +2b+3¢ 1s equal to:

Options:

3666949499, VY

3666949500, = VY

3666949501. o
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oV
3666949502, S

Question Number : 18 Question Id : 3666943038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

AFT IS G, b, ¢ MU V & U YHIGR Yehad & HglddrH! [EART &I [Heiud
B0 el d 39 HHIR Yebd, fodd dgadl [FaR icsl a, b+¢  adl

i+2b+3¢ QST BIA 8 &7 30T R 6
Options :
V
3666949499
2V
3666949500.
3666949501, ¥
3666949502, © ¥

Question Number : 19 Question Id : 3666943039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three dice are rolled. If the probability of getting different numbers on the

three dice is £, where p and g are co-prime, then g - p 18 equal to

q

Options :

a
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3666949504. ¢

%
3666949505, ~

3666949506. '

Question Number : 19 Question Id : 3666943039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A T8 e oI €1 Tfe diH1 Uil R {37 ST Wi 34 &1 Wil f%’,ﬁﬁfg

aul g SEEHUIT &, dl g—p I ¢

Options:

3666949503.

3666949504.

I

3666949505.

36669495060.

Question Number : 20 Question Id : 3666943040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Among the statements

(S1): (p=aq)v((~p)ag) is a tautology
(52): (g= p)=((~ p)~q)is a contradiction
Options:
only (51) is True

3666949507.

only (52) 1s True
3666949508.

both (81) and (S2) are True
36669495009.

Ol o2) 18 True
3666949510, neither (51) and (52) is True

Question Number : 20 Question Id : 3666943040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYI

S1): (p=q)v((~p)rq) FElEE
52): (a=p)=((~p)rq) EOHNHE
g9

Options:
3666949507, T oa (51) §Ug
3666949508, o (52) {ed €

~

S
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3666949509, 1 (S1) T (52) WU &

AN A8 (S2) T ©

3666949510.

Mathematics Section B
Section Id : 366694167
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694167
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 3666943041 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a, 8,2 C and A>1,1f ﬂ;‘;{ —1 1s the radius of the circle

',“T—E'I‘E +|2 —ﬁ‘g =24, then |a - ] is equal to

a@
gcollegedumaa
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666943041 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
o, f,zeCTU 4> 1P QARG |z-af +|z- [ =24 B BN -1 8
].l::r —[ﬁ‘ WA &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943042 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of 4-letter words, with or without meaning, each consisting of 2
vowels and 2 consonants, which can be formed from the letters of the word
UNIVERSE without repetition 1s

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

a
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Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666943042 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T GRIGR & UNIVERSE sg & 31&RT ¥ §-U S Hh+ dTdl 4 31&R, [FH 2 R
aYT 2 &G gl, & SfUYof g1 U Wsgl Bl TBAT ¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666943043 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19

If (20)" +2(21)(20)" +3(21)* (20)'" +...+20(21)"” = k(20)", then k is equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 23 Question Id : 3666943043 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
afg (20)" +2(21)(20)"° +3(21)*(20)' " +...+20(21)"” = k(20)78, A 1 R

8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943044 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 5 559 @ G
The number of points, where the curve y=x"-20x" +50x+2 crosses the

X-AX18. 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666943044 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E:Eﬁgaﬁ Weldh y=x" —20x" +50x + 2,
x-3{&] 1 Bl 8, B T 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943045 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a curve ¥ =[(x), x €(0, ») pass through the points P[L ;] and Q[m E)'

il =T

If the tangent at any point R(b, f(b)) to the given curve cuts the y-axis at the

point S(0, ¢) such that be =3, then {'PQ]E is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666943045 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HATTEH 96 y = f(x), x € (0, =) fdgaft P(l, 3] GLE c‘;{m :15] Y eP Sl gl afe

2

QU Y ash & fardl Ml Tdg R(b. f(b)) tﬁwﬁ@l y-31&1 ®1 fdg S(o, ¢) W HIedl
g WEl® be=3, A (PQ)° TR &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943046 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A

Let f(x)

1 .xelR —{—IE,HEH, n>2.

{:1 +x" }:

If " (x)=(fofof.....upto n times) (x), then 1imjx“‘3{f“{x}}fﬁx is equal to

Jl =90l

()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666943046 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

X
1

(1 +x"n

HHET f(x) = xeR -{-1),neN,n>2 gl

l .
aie " (x) =(fofof..... nTR) () T lim [ *(f" (x))dx TR 7
{

Fl.=poC

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943047 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 “p
adid - S : : |
Let the eccentricity of an ellipse —+*5=1 is reciprocal to that of the

2
a b

hyperbola 2x~ — 2y~ =1. If the ellipse intersects the hyperbola at right angles.

then square of length of the latus-rectum of the ellipse 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666943047 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 0% §ad <+ L =191 Sbsal, AREay 21 - 2y% =1 Bl Ihwal B

ahH (reciprocal) gl afg ?ﬂﬂfﬁ HfRdag & dadd wredl g, dl m &l
AT SifdT P Tars ST @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943048 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

. ¥=—1 2-% 2-=3 o - .
If the lines 1_ . F and = i _y-1_2z2 intersect. then the

-3 " 3’ 2 Jr)
magnitude of the minimum value of 8af 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666943048 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrona Marks : 1




.q.m, o x—1 .—1}’ z2-3 TUT '.1?—*‘1_:1;’—’.1:5wgmﬁmamﬁﬂﬂ

-3  a 5 2 B

ai:uﬁarmﬂﬁﬁrﬁﬂm%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943049 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the frequency distribution

X; i 1 6 8 10 12 14 16

[

] |

[ 1 1 v 18 8 i 4

are 9 and 15.08 respectively, then the value of &” + f~ - af is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666943049 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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6

10

12

14

16

£

15

8

p

& HIET YT UHR0] S 9 AT 15.08 8, Al a” + £~ —aff SIHH B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943050 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The value of tan9°—-tan27° -tanB3° + tan81° is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666943050 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tan 9° —tan 27° - tanB3° + tan81° P HIH %
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 366694168
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694168
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 3666943051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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A 2 meter long scale with least count of 0.2 ¢cm 18 used to measure the
locations of objects on an optical bench. While measuring the focal length of a
convex lens, the object pin and the convex lens are placed at 80 em mark and
Im mark, respectively. The image of the object pin on the other side of lens
coincides with image pin that 18 kept at 180 em mark. The % error in the
estimation of focal length 1s:

Options:

3666949521, V-21
3666949522, -89
3666949523,
3666949524, 'V

Question Number : 31 Question Id : 3666943051 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U UHIRE o WR aegafi 31 RUfd °19= 3 0.2 cm eUdHi® & 1Y U 2 Hie T
UHMF &1 I fhar 71 g1 Sefdh U Idd o & By il A9 |, ax o9 @
390 o HH: 80 em d 1 m & I8 W f¥Yd &1 o] U &1 ufdfare of g & g8 ofiv
ufdferd 09 § frddr g afe 28 180 em g W @1 9| Bid gl &1 T0FT | o
e &:

Options:
3666949521, V21
3666949522, 50
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2
3666949523. s

3666949524, 1V

Question Number : 32 Question Id : 3666943052 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As shown in the figure, a particle 18 moving with constant speed © m/s.
Considering i1ts motion from A to B, the magnitude of the average velocity 1s:

Options:

3666949525, T M/s

3666949526, V9 m/s

3666949527, 1-BV3 m/s

o [ -
3666949528, = V3 W/E

Question Number : 32 Question Id : 3666943052 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0

Correct Marks : 4 Wrona Marks : 1




velRid a3 |, U 01 (990 916« my/s 9 71fd SR 81 fog A9 8 dF @l i & fefu

=& 3T 71 &1 UHT &
Options:
3666949525, ™ MV/s

3666949526. 3 mls

3666949527, - V3 m/s

3666949528.

Question Number : 33 Question Id : 3666943053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A particle starts with an initial velocity of 10.0 ms-! along x-direction and

accelerates uniformly at the rate of 2.0 ms=2. The time taken by the particle
to reach the velocity of 60.0 ms—11s

Options:
3666949529, ©F
3666949530, 298
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38
3666949532.

Question Number : 33 Question Id : 3666943053 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U BT 10.0 ms * & U URTE 1 9 «-fo2n & srfew fd yrmy &var g aun
2.0 ms? @] UHGHM X ¥ @Rd gIdl 81 97 & 60.0 ms™ db Ugd- H &0l gRI fer
T ¥ B

Options:

3666949529, O8

3666949530, 298

3666949531, °Us

38
3666949532.

Question Number : 34 Question Id : 3666943054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A child of mass 5 kg 18 going round a merry-go-round that makes 1 rotation

in 3.14 s. The radius of the merrv-go-round 18 2 m. The centrifugal force on

the child will be

Options:

L S Bl T I T e T
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40 N

3666949534, 0N

3666949535. BN

3666949536. e

Question Number : 34 Question Id : 3666943054 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s {1 SoH &1 U =1 U el 1 7T dsb (FR1-TM1-3US) T FaehR TITell © ol
3.14 s W 0% Fah [T &1 & | 9 71 9eb B B30l 2 m 81 5 R @V aTdl udb4
ad B

Options:

3666949533, 10N

3666949534, 0N

3666949535. HON

3666949536. e

Question Number : 35 Question Id : 3666943055 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement from the following:

Options:

When a body falls towards earth. the displacement of earth towards the

3666949537 body 1s neghgible.

3666949538, The speed of satellite in a given circular orbit remains constant.

For a planet revolving around the sun in an elliptical orbit, the total

3666049539, CRergy of the planet remains constant.

The linear speed of a planet revolving around the sun remains

constant.
3666949540.

Question Number : 35 Question Id : 3666943055 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed 9 Tad $uF gAT

Options:

p— oid U9 fUUg &1 3R Rar g, gudl &1 [ave &1 3R fawirgT g gian e

3666049538, ° A T8 JAIPR Pl H UG PI et 10t Tl 8|

T4 & URd: T SraaaeR H&1 H URHH0 Hd U TE & o, 98 31 $d Foil FHad

3666949539, &4 gl
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2666040540, B3 & TIRC: UREHHUI TTid HXd §U HE P1 X8 |1 0 Tl &1

Question Number : 36 Question Id : 3666943056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The weight of a body on the surface of the earth is 100 N, The gravitational force on it
when taken at a height from the surface of earth equal to one-fourth the radius of the earth 1s:

Options:

3666949541, 29 N

3666949542, 20N

3666949543, 04N

1
3666949544, N

Question Number : 36 Question Id : 3666943056 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gudl 1 Hdg W U [UU8 &1 HR 100 N &1 39 W T ardl [SdidBYUl §d, o d gad]
&l B & U 9IS & Gl Ud Gl U o oF 0T 6

Options:

3666949541, 29N
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a0 N

3666949542,
3666949543, °4N
3666949544, OO N

Question Number : 37 Question Id : 3666943057 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GGiven below are two statements: one 18 labelled as Assertion A and the
other1s labelled as Reason R

Assertion A: When vou squeeze one end of a tube to get toothpaste out
from the other end, Pascal's principle 15 observed.

Reason R: A change 1n the pressure appled to an enclosed
mecompressible fluid 1s transmitted undiminished to every
portion of the fluad and to the walls of its container,

In the light of the above statements, choose the most appropriate answer
from the options given below

Options:
3666949545, Both A and R are correct and R is the correct explanation of A
3666949546, Both A and R are correct but R 18 NOT the correct explanation of A
3666949547 A 18 correct but R 1s not correct

A 18 not correct but R 18 correct
3666949548.

~
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Question Number : 37 Question Id : 3666943057 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Ad g1 HYA 8 T 8 U &1 HIUHYA A TUT SH $ SRR ¥ fIfd fear mar g

HUBYA A: T 319 E[d b Teb X qa1d ¢ o 39D gu¥ FaR I 2YURe 9181 3f1dl 89
UR$d & [gH P 3Hica- gidl g

PRUR: U g¢ SHUIST 5d W IR g9 H UF gfadd gd & Udd YT Ud
dd- ®1 39l SIaR] @i 641 HH B8 URTHG § Jrd1 g

SRIE Syl & Had ¥, Al 38 1 e 1 ¥ gaiive Iuga IW gHT:
Options:

2666049545, AT REHI TE1 € 3R R, A DI Hel TG ©

3666949546, AT RGH UE1 € U R, A DI Wl oA el ©

AYEl g W] RYEI 781 &

366694954 7/.

A el Tel ¢ WG RUTT &

3666949548.

Question Number : 38 Question Id : 3666943058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body cools in 7 minutes from 60°C to 40°C. The temperature of the
surroundmeg 1s 10°C. The temperature of the body aftter the next 7 minutes
will be:
Options:
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28°C

3666949550, 0 U

wjl:ll
3666949551, e

3666949552, -

Question Number : 38 Question Id : 3666943058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 fBFTe © us 9% 60° 9 40° I S Bl & | ITaravul B J9HH 10°C g
3ATd 7 THE | 9% &1 dI9HH g

Options:

3666949549, 20\

3666949550, 20 U

3666949551, 5k

SV LA

3666949552,

Question Number : 39 Question Id : 3666943059 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The temperature of an ideal gas is inereased from 200 K to 800 K. If r.m.s.
speed of gas at 200 K 1s v, . Then, r.m.s. speed of the gas at 800 K will be:

Options:

3666949553,

2,
3666949554,

3666949555,

3666949556,

Question Number : 39 Question Id : 3666943059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3TaR] T &1 d9H 200 K J 800 K 0@ dgdl &1 Tl 200 k W 719 &t a7 {1eg Ya
A1d v, &1 9, 800 K W 719 &1 37 Arex 7 91d g

Options:

"
I ]

3666949553,

3666949554,

3666949555, "
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3666949556,

Question Number : 40 Question Id : 3666943060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The ratio of speed of sound 1n hydrogen gas to the speed of sound 1n oxygen
gas at the same temperature is:

Options:

3666949557, 11

« ]
3666949558, -
3666949559, 14
1 -1

3666949560.

Question Number : 40 Question Id : 3666943060 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THH 999 R gRsoH 19 # | & 9@ ud s1adieH 19 7 @i &1 91d &1
3(UTd B

Options:

3666949557, 1:1
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3666949559, 1 °1

3666949560, &

Question Number : 41 Question Id : 3666943061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For an amplitude modulated wave the minimum amplitude 18 3 V, while the
modulation index 1s 60%. The maximum amplitude of the modulated wave 1s:

Options:

3666949561, 9 VY

3666949562, 10

3666949563, 12V

3666949564, 10V

Question Number : 41 Question Id : 3666943061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U O ATgfed @i & ot =gHan AW 3V 8, S Algad uid 60% &
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3666949561, 9 V

3666949562, 0V
3666949563, 12V
3666949564, 10V

Question Number : 42 Question Id : 3666943062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

nven below are two statements: one is labelled as Assertion A and the
other is lahelled as Reason R

Assertion A: Diffusion current in a p-n junction is greater than the drift
current in magnitude 1f the junction 1s forward biased.

Reason R: Daffusion current in a p-n junction 18 from the n-side to the
p-side if the junction 1s forward biased.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options:

3666949565 Both A and R are correct and R 1is the correct explanation of A

3666949566, Both A and R are correct but R 18 NOT the correct explanation of A

3666949567 A 18 correct but R 1s not correct

A 158 not correct but R 1s correct
3666949568.
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Question Number : 42 Question Id : 3666943062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
e 3 ®yH 38 1 §: Ud &1 HIHHYH A 7Y T &I FRUI R § ffed fearman g
HFUT A: UF p-n IR H G0 YR, 3(UAE YRT ¥ 3fF gl & gfic I
SIS I B

BRUR:  UP p-n G H TR0 YR n-dRF T p-RPB B 3R Bl & i |
SRS 9y Bl

SWRIH Byl & e 1, A9 38 1 el # 9 gaiides Iuga 3w 9T
Options:

26eeoaoces, AT R el § SR R, A DI Wl SUTS &

2666040566, AT R WEl § IR R, A P HEl o1B el ¢

AHEI g USdRUel A8l &

3666949567.

AT 76l 8 g R UG &

3666949568.

Question Number : 43 Question Id : 3666943063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A small particle of mass m moves in such a way that its potential energy
1

L?"=;m aw r- where @ 18 constant and r 1s the distance of the particle from

aud

origin. Assuming Bohr's quantization of momentum and circular orbit, the

radius of nth orbit will be proportional to,
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I

3666949569.

1=

366694957/0.

366694957/1. Vn

1

3666949572, "

Question Number : 43 Question Id : 3666943063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
m GOgHIA BT U BIeT BV 31 TRE I Tid a1 8 b 391 RS 9T U == m o

I
¢Sl o m%w’ﬁﬁﬁ@mfﬁiﬂr%ﬂiﬁﬂﬁmmuﬁﬁm
gaihR AFR, n d1 BT DI 3501 9 1 § [HD AIHHMUTI gHi:

Options:

It

3666949569.

1=

366694957/0.

366694957/1. Vn

1

3666949572,

— m B = E | F B = ® w | W G g e, G TR . G a @ o O e ey g n ¥ = C ol o L W -
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The work functions of Aluminium and Gold are 4.1 eV and and 5.1 eV
respectively. The ratio of the slope of the stopping potential versus frequency
plot for Gold to that of Aluminium 1s

Options:

3666949573, 1%

3666949574, 1

3666949575. i

N

3666949576.

Question Number : 44 Question Id : 3666943064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TR U4 TH &1 BHIGEH HHY: 4.1 eV d 5.1 ev € | W1 qUT Tegfiifam & g
PRI favg aur enafa & 9 ugurars &1 Hud &

Options:

3666949573, 124

3666949574, |

1.5

3666949575.
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Question Number : 45 Question Id : 3666943065 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one i1s labelled as Assertion A and the
other 18 labelled as Reason K

Assertion A: The phase difference of two light waves change if they travel
through different media having same thickness, but
different indices of refraction.

Reason R: The wavelengths of waves are different in ditferent media.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options:

3666949577 Both A and R are correct and R 1s the correct explanation of A

3666949578 Both A and R are correct but R 158 NOT the correct explanation of A

3666949579 A is correct but R is not correct

A 15 not correct but R 18 correct
3666949580.

N.A Minimum

Question Number : 45 Question Id : 3666943065 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time :

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

~

S

N.A Minimum
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49 g1 FYA 8 T 8: U &1 3HHHYT A 7Y T B HRUIR 9 fafgd fdarma g

HMUBYT A: G UHIR qN &1 dAR URaiad gidl & dic d 9 Hiels W’
HTHT- AT UdcHiP & fafta AregHl | el g1

®RUTR: AT &l dUTGed SIEVT-S{ET AT H SelT-3fe gt |
IR HY & G # - 18 1 Al 1 9 9aiite 3ugd IR AT

Options :

3666049577, AT R el € SR R, A D1 Wel T &

3666949578, ° R T € TR R, A DI el STRAT Tl &

2666049579, AT € I R WEl 81 &

ATE Tol g RJRUTI ©

3666949580.

Question Number : 46 Question Id : 3666943066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy density associated with electric field E and magnetie field B of
an electromagnetic wave in free space 18 given by (e,— permittivity of free

space, u,— permeability of free space)

Options:

Ir _ EE 1 ,fF _ J.[.r”Bl-
~ 2g, © 2
3666949581.
Lf: — Ef.:- Ei -_. L;rﬂ — __'rIZ}IBE
3666949582. 2 2
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‘E = I 2.’II""II
3666949583. |
U, = Eu._,E,'3 U, = i
2 2L,
3666949584, |

Question Number : 46 Question Id : 3666943066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Had TR H UP fdegdgras g o & fdgqd & E dyl T &4 B 9 9wid
Foll U@ faur T € (e, HEd MY $1 [Geyaie, y HE SE @i
radH e [ed):

Options:
B . B
E'FE — E I'ﬂ — "H;
3666949581 . e -
U, = E'—":;E_ = *'”'if -
3666949582. F <
E: B
Irf_ :le ,IJH:E
3666949583. | :
e, E° . B
UE - _;-E , L’H _ Eﬁ
3666949584 ¥

Question Number : 47 Question Id : 3666943067 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A capacitor of capacitance 150.0 #F 18 connected to an alternating source of

emf given by E=36 sin(120xt) V. The maximum value of current in the circuit
18 approximately equal to :

Options:

3666949585, V24

3666949586, 2V2A

3666949587. V2

3666949588, -

Question Number : 47 Question Id : 3666943067 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

150.0 pF YTl &1 U YUTRE 61 U UdTddl id 9 ST ¢ foret fagygd ae® «a
E=36 sin(120xt) V & | URUY § 4RT &1 3HftHad HE @ TH aRIeR &

Options:

3666949585, V24

3666949586, VA

e
3666949587, V2
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3666949588.

Question Number : 48 Question Id : 3666943068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A student i1s provided with a variable voltage source V, a test resistor
R.=1082, two identical galvanometers (, and (., and two additional
resistors, B, =10M2 and R, =0.00142. For conducting an experiment to verify
ohm's law. the most suitable circuit 1s:

Options:
; MANA
R,
q fll"'(.
3666949589. v
e
3666949590. v
3666949591,
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3666949592,

Question Number : 48 Question Id : 3666943068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U B $1 UH URGd! dlccs Hid v & A1Y T G UIcRIY Ry = 100, T THIHM
URTHT G, d G, a4 &1 e ufe’iy R =10MQ 9 R, =0.0012 [RATA G| W&

T & JoToA &1 0O &3 & forg Hatite Iuged uiuy §:

Options:

3666949589.

3666949590.
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3666949592,

Question Number : 49 Question Id : 3666943069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Figure shows a part of an electric circuit. The potentials at points a, b and ¢
are a0V, 12 V and 2 V respectively. The current through the 20 Q resistor

will be.
a
—
MM
30 O -
Options:
3666949593, 2%
3666949594, 0-6A
3666949595, U4 A
1.0 A
3666949596,

Question Number : 49 Question Id : 3666943069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fdggd uRuy & us 1 &1 3 | gifan w1 g1 faeg o, b 0l ¢ R fava s
30v, 12v @Y1 2v &1 200 UfaRIe & g8+ arell ¢RI g

MMMy D
| 20 ¢
A

10 Q)
) S
A0 Q) C

Options:

3666949593, -2 A
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3666949594, V-6 A

3666949595, 1A

1.0 A
3666949596.

Question Number : 50 Question Id : 3666943070 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A dipole comprises of two charged particles of identical magnitude g and
opposite in nature. The mass ‘'m’ of the positive charged particle is half of the
mass of the negative charged particle. The two charges are separated by a
distance ‘I'. If the dipole is placed in a uniform electric field ‘E " in such a way
that dipole axis makes a verv small angle with the electric field, ‘E’. The
angular frequency of the oscillations of the dipole when released 1s given by:

Options:
3666949597,

84

Jm !
3666949598,

gk

3666949599, ' ™!

Sqg
mil

3666949600.

~
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Question Number : 50 Question Id : 3666943070 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us fayd, THEHM q URHm gu1 f[Auld uefa & 3 SMafdia &uil | 91 g3 8
tTATRIT BT BT GH m, BUARIT SO ST AU S S AV TH TN T TN
Ry 81 afe fesd vhanH fagyd &3 e 4 39 UPR WA 10T & & fgya, dega &7 e ¥
U Y& BV 11 € | IeH @1 BIvig gy er:

Options:
1qFE
amd
3666949597/.
Bg kL
Sml
3666949598.
gk

3666949599, '™

8qFE

3666949600, ' "
Physics Section B

Section Id : 366694169
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
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Section Marks : 20

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694169
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 51 Question Id : 3666943071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body is dropped on ground from a height "/ " and after hitting the ground,
it rebounds to a height “h,". If the ratio of velocities of the body just before
and after hitting ground is 4, then percentage loss in kinetic energy of the

body 15 E The value of x1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666943071 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fUUS &1 h,’ HA5 A 4R IR TR A1 8, 3R 4Rt W eHIA & 91 I8 h, Fd1%
d® 3I8ddl ¢l Tie tRal § T & 3 Td Ud 915 fUu8 & 97 &1 3T 4 ¢,

fas 1 st it & wfrerd 81 = &1 F1 A gl
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943072 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A mng and a solid sphere rotating about an axis passing through their
centers have same radu of gyration. The axas of rotation is perpendicular to

. . . _. . : % -
plane of ring. The ratio of radius of ring to that of sphere is J — . The value of
X

X 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666943072 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U YUH 191 &1 Us Seal Ud Udh 319 Tl 319 dsl § R4 dlell &l &
ufed: guia 7ifd &1 38 21 Bed &1 9ol 31e 39S ad & TrEdd g Bed 1 Al &

Tﬂﬁﬁﬁwﬁmuaﬂmﬁ%nxaﬂm gl

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943073 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metal block of mass m 1s suspended from a rigid support through a metal
wire of diameter 14 mm. The tensile stress developed in the wire under
equilibrium state is Tx10" Nm~. The value of mass m is ke
22 \

i

(Take, g=9.8 ms2 and 7=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666943073 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
m SHE BT U YT BT ICHT 14 mm AH & UF U & IR R UH €3 YR H
dedl gl ArTaRyT &1 fufd d aR | a=uar ufded 7 x 105Nm =2 8| S0HH m &1 HH
kg%(ﬁfmg:g=9.8msiﬁtﬂn :§]||

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943074 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two concentric eircular coils with radit 1 em and 1000 em, and number of
turns 10 and 200 respectively are placed coaxially with centers coinciding.
The mutual inductance of this arrangement will be x 10 H.
(Take, 7° =10)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666943074 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 em YT 1000 cm TSTT3{T TYT BRI D1 HBAT HHI: 10 TYUT 200 DI &l b5 g FATHR
HUSTerdl B 3D Dsl ol [TTH Hg-Hefg T@ 71 €1 36 HaR BT 3 U]
x 10~8H B |

@e 72 = 10 ADI)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 55 Question Id : 3666943075 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A beam of light consisting of two wavelengths 7000 A and 5500 A is used to
obtain interference pattern in Young's double slit experiment. The distance
between the shits 1s 2.5 mm and the distance between the plane of shits and
the screen 18 150 em. The least distance from the central fringe. where the
bright fringes due to both the wavelengths coincide, is nx10°m. The value of
M 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666943075 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g feferl v | safaesur Oe Ui &3 & ol 7000 A U4 5500 A &1 &1 a¥vTe e
&1 0P TS Ul e ma g | B d de i gl 25 mm AU BT $ a@d A 9 a&
aﬁ?ﬂ%’, nx10"m %[nﬁqﬂ %l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 56 Question Id : 3666943076 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Experimentally it 158 found that 128 eV energy 15 required to

separate a hydrogen atom into a proton and an electron. So the

orbital radius of the electron in a hydrogen atom is =x10"m .
X

The value of the xis

1

dre,

=9x10°Nm*/C* and electronic charge =1.6x10"(C)

(1 eV = 1.6x1077d,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666943076 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I ¥U ¥ g U 81dT © b Ueb gI3gIo URHIY] &1 Ueh WIeld d U gade |
AT B & [eTU 12.8 eV Holl D1 HALLHdI Bl 6| b B3 ol URHIY H el

F Fea A 2x10°m B xPIAAE
‘i

1

1 Kl E”

(1 eV = 1.6x10"J, = 9x10° Nm¥/C* Ud FodeH $1 3% =1.6 x10™ C)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943077 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A proton with a kinetic energy of 2.0 eV moves into a region of umform

magnetic field of magnitude %xlﬂ*:* T. The angle between the direction of

magnetic field and velocity of proton 1s 60°. The pitch of the helical path
taken by the proton 1s cm. (Take, mass of proton = 1.6 X 1027 kg and
Charge on proton = 1.6 x 10-1% ().

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666943077 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2.0 eV Tfae Froll ¥ U UleH =« 10 T URH & THTAH FEH I &7 & IR 7

9
T BT 8| b1y &F 1 21 Ud WKl & 371 @ did &1 Il 60° g | W gRI ad
B T Boilda Uy &t fug cm%(ﬁﬂl%’,ﬁiﬁ:{ﬁmﬁ=1.ﬁxlﬂ-ﬁkg
Ud UTe[d BT STE = 1.6 x 10-19 ()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943078 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As shown in the figure, the voltmeter reads 2 V across 5 Q resistor. The
resistance of the voltmeter is (L,
3V

—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666943078 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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weffd fE | 5 o ufddiy & O7g dicediel &1 2 V UsHid gl diceHie? &1 Uiy
0el

3V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666943079 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As shown in the figure, two parallel plate capacitors having equal plate area
of 200 ecm? are joined 1n such a way that a 2b6. The equivalent capacitance of
the combination 18 x €, F'. The value of x 1s

" a

L 5 .
It" = 1 mm I d =5 mm

||1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Tavt Araac * PlainTavt
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Possible Answers :

10

Question Number : 59 Question Id : 3666943079 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yafid o ¥, 200 cm? &F%E B U GHH Ufed] & & GHIRR e GRA 39 UBR
TS B IF a=b | U B G UTRAT x e, F B x BT HH g

iz = .
] 1
I’L‘ =1 mm I d=58 mm
» -
] b
. ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666943080 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A simple pendulum with length 100 cm and bob of mass 250 g 18 executing
S.H.M. of amplitude 10 em. The maximum tension in the string 1s found to be

= N. The value of x 18
41)

Response Type : Numeric

Evaluation Required For SA : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :
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Question Number : 60 Question Id : 3666943080 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 cm T TS d 250 g THHM & Mdd & H1Y TP G3d alad 10 ecm ATATH B WA

31ad 7fd S e | SR | iffdad a1 %Nmtaﬁlm%mﬁnﬁ

Response Type : Numeric
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Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 366694170
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 3666943081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of 0.02 M aqueous HBr required to neutralize 10.0 mL of 0.01 M
aqueous Ba(0OH): 18 (Assume complete neutralhization)

Options:

3666949611, =0 mb

3666949612, 0 mlL

3666949613, -0 Ml

3666949614, 10-0mlL

Question Number : 61 Question Id : 3666943081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.01 M e Ba(OH): & 10.0 mL 1 IS FH- & [TU a0 F 0.02 M Jag
HBr &1 3T &

Options:
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2.5 mL

3666949612, -0 mb

3666949613, 0 ML

3666949614, 10-0mL

Question Number : 62 Question Id : 3666943082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It the radius of the first orbit of hydrogen atom i1s @_, then de Broglie's
wavelength of electron 1 3 orbit 18

Options:
irTa

3666949615.

3666949616, ¢

A

3666949617, -

NE

3666949618.

Question Number : 62 Question Id : 3666943082 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe gIgS o URHIY] & UYH Hal &l B3l ¢ 81 dl 3 Y el J sade ™ Dl & Jrdl

GRUCAH S

Options:

3666949615.

3666949610.

3666949617/.

3666949618.

iTa

bra

| |

na

Question Number : 63 Question Id : 3666943083 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Consider the following reaction that goes from A to B in three steps as shown

below:

I

Knerey
g [

Step step Step B
T [ 11

Reaction Coordinate >

Choose the correct option

Number of Number of Activated
intermediates complexes

Options:

3666949619, = 3
3666949620, = 3
3 9
3666949621,
9 3
3666949622,

Rate
determiming
step

L1

111

11

Question Number : 63 Question Id : 3666943083 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Froferfad siftfemar a9 s o9 =Rl 4 gidl € o i 11 ueiia foear mar g

0
Fl
Ug Ha i [+ 12
1 1 I
yfufea g ——
ol [deed g,
neratdgy & gfdad doai a7 AuR® ug
T &l &=
Options:
3666949619, > 3 L
3666949620, 2 3 Hl
3666949621, - ~ 11
2 ] I
3666949622.

Question Number : 64 Question Id : 3666943084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Whaich one of the following elements will remain as liquid inside pure boiling
water”?

Options :

3666949623,
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3666949624, 2

3666949625, ©°

3666949626,

Question Number : 64 Question Id : 3666943084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y I9ad Ul | FHafefad 7 9 $1F 9 dd g9 & 34 H ghe

Options:

3666949623,

3666949624, 2

3666949625,

3666949626, T

Question Number : 65 Question Id : 3666943085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The product, which 18 not obtained during the electrolysis of brine solution 1s

a
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Options:

3666949627,

3666949628, -

3666949629, 1V

3666949630, AOH

Question Number : 65 Question Id : 3666943085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IdIE, Gifd §134 9 fdggd [y & SR 8! U gidl 8|

Options:

3666949627.

3666949628, 11

3666949629. AUl

3666949630, VaOH

Question Number : 66 Question Id : 3666943086 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Structures of BeClz 1n sohid state, vapour phase and at very high temperature
respectively are:

Options:
3666949631. Dimerie, Polymerie, Monomerie
3666949632 © ymeric, Dimeric, Monomeric

3666949633 Pelymeric, Monomerie, Dimeric

3666949634, Monomeric, Dimeric, Polymeric

Question Number : 66 Question Id : 3666943086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BeCl, ®1 TIGAI 31 AR A ag G H 3R 3= dIY W HHY: ¢

Options:

3666949631. [GePl, TEAP, TP
2666049632, 80, [HUP], [T
3666949633, GOl Taad
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Question Number : 67 Question Id : 3666943087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

lon having highest hydration enthalpy among the given alkaline earth metal

10NS 18:
Options:
3666949635, ¢
3666949636, &
Sr2t

3666949637, -

3666949638.

Question Number : 67 Question Id : 3666943087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
f&d 1 &g gar urg oAl § I=Ean SadieH e |

Options:
3666949635, ¢
3666949636, &
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3666949637, ¢

Ba2t

3666949638.

Question Number : 68 Question Id : 3666943088 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Group-13 elements react with O: in amorphous form to form oxides of type
M:0s (M = element). Which among the following is the most basie oxide?

Options :

3666949639. B20s

3666949640, 12

Gas0.
3666949641, 200

3666949642, 1120:

Question Number : 68 Question Id : 3666943088 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gil 13 &1 dd Hfcheeeid 9 H 0, 9 JHHTHT HIH M,0: (M = dd) TSR FI
TS E <dl o | FafeiiRad d 9ad uad &g Haugs 62

Options :

a
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3666949639. B,0;

3666949640, HzUs

3666949641, a2V

3666949642, 1203

Question Number : 69 Question Id : 3666943089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the reaction of permanganate with thiosulphate, the change in
oxidation of manganese occurs by value of 3. Identify which of the below
medium will favour the reaction.

Options :
3666949643, agqueous neutral

aqueous acidic
3666949644,

both aqueous acidic and faintly alkaline
3666949645.

both aqueous acidic and neutral
3666949646.

Question Number : 69 Question Id : 3666943089 Question Type : MCQ Option Shuffling : Yes Is

NDuestinn Mandatarv * Nn Calriillatar * None Resnnnse Time * Nl A Think Time*N A Minimiim
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHIE &1 YEehe 4 JAMNET & SR AT & TaTdI | 3 °HF &1 gidd-
giar & | A o0 Arvw &1 ug"E o T sifvferan & ggras g

Options:

3666040643, TNA GaRIM

3666949644,

3666949645, T ST SR Eewbl 4RI Gl
3666949646,

Question Number : 70 Question Id : 3666943090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(riven below are two statements: one 1s labelled as “Assertion A" and the
other i1s labelled as “Reason R”

Assertion A: In the complex Ni(CO); and Fe(C0)s; the metals have zero
oxidation state.

Reason R: Low oxidation states are found when a complex has higands
capable of 7-donor character in addition to the o -bonding.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options :
Both A and R are correct and R is the correct explanation of A

]
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3666949648, Both A and R are correct but R is NOT the correct explanation of A

A 18 correct but R 18 not correct
3666949649,

3666949650. A 18 not correct but R is correct

Question Number : 70 Question Id : 3666943090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 g1 $YA 138 0 8: U &l HHHYA A 3R IR 1 HRU[ R 3ifdd faar T g

HHBYT A: HHdl Ni(CO)4 IR Fe(CO)s T UTI3M DT TaITHI0T Saw1 I
gldl |

PRUIR: (Y RS0 3fawyl 7d il € ofd Hpal H [ohg o ey &
TIY-T1Y 7 G HI BT 07 TGl ¢

SRIF HYAl & YR R Al 38 TN {9l J ¥ Had Ifd I &I g4
Options:

3666949647, SR R &I T © SR R, A DT Tl SRS Tl ¢

3666949648, A 3R R T T § U] R, A BI We! IR -Tel Bl &1

AT g U R 3 ¢
3666949649.

A 3 § TWWd RUA B
3666949650.
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Question Number : 71 Question Id : 3666943091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The group of chemieals used as pesticide 1s

Options :

3666949651 Dieldrin, Sodium arsinite, Tetrachloroethene

Sodium chlorate, DDT, PAN
3666949652.

DDT, Aldrin
3666949653,

Aldrin. Sodium chlorate, Sodium arsinite
3666949654,

Question Number : 71 Question Id : 3666943091 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
grew-reft & forw IudnT 819 drd 1! &1 JIE B

Options:

3666949651. -
HITETH 96NC, DDT, PAN

3666949652.

e pDDT, Vsl
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3666949654. UegH, HISTH e, WiSaH e

Question Number : 72 Question Id : 3666943092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The IUPAC name of Ki[Co(C204)1] 1s:-

Options:

3666949655, Potassium tris(oxalato)cobalt(111)

3666949656, Potassium tris(oxalato)cobaltate(111)

3666949657 Potassium trioxalatocobalt(111)

Potassium trioxalatocobaltate(111)
3666949658.

Question Number : 72 Question Id : 3666943092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Ks[Co(C204)s] BT TUPAC ATH 8-

Options:

arefArmy feH (silaide) Hiaree ()
3666949655,
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arefmy o (sifadide]) Sldreee (1)

36669496560.

ey e sidideldIaree (i)
3666949657/.

3666049658, TCIAH TR (1)

Question Number : 73 Question Id : 3666943093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Formation of which complex, among the following, 1s not a confirmatory test
s .
of Pb™" 1ons

Options:

lead chromate
3666949659,

3666949660, \ead sulphate

3666949661, cAd iodide

I ‘ El t *ate
REEEIATBED, T e

Question Number : 73 Question Id : 3666943093 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1




fFrgfefad ® § fg Tod &1 &1 Ph2* =T &1 Ufp ufemr et &
Options:

3666949659, 16 BIC

3666949660. s

3666949661.

ds A1gee

3666949662.

Question Number : 74 Question Id : 3666943094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Element not present in Nessler's reagent 1s

Options:

3666949663.
Heg

3666949664.

3666949665.

3666949666.
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Question Number : 74 Question Id : 3666943094 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dd JgeR Sifede ¥ Julyd 78 &

Options:

3666949663.

3666949664, &

3666949665.

3666949660.

Question Number : 75 Question Id : 3666943095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following reaction, ‘B is

major

OH

Options:

3666949667/.
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3666949668.

3666949669.

366694967/0.

Question Number : 75 Question Id : 3666943095 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed sifufea 7 & €-
Hs07 ,
E EB-
major
O
Options:
()
366694966/.

3666949668.
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366694967/0.

Question Number : 76 Question Id : 3666943096 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

From the figure of column chromatography given below. identify incorrect
statements.

A

a
b
C
A Compound ‘¢’ is more polar than ‘a’ and b’
B. Compound ‘a’ 18 least polar
C. Compound ‘b’ comes out of the column before ‘¢ and after ‘a’
D. Compound ‘a’ spends more time in the column

Choose the correct answer from the options given below:
Options :

B. C and D only
3666949671.

A, B and C only
3666949672,
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3666949673, b and D only

A, Band D only
366694967/4.

Question Number : 76 Question Id : 3666943096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-Td 23 8 SIaH quiciad I 38 $YAl B UgaH

A OiffT® ¢ QTS ‘2’ 3R ‘b’ ¥ Sg1el Ydid &

B. UM o’ &Y & ¢drd

c. GIf& v HTaH Y ‘¢ ¥ Ygd 3R ‘@ & 91 Fdadr g
D. Ui ‘o DlcTH H SIS GHY Hdlld Bl 8

19 130 74 fasedi | 9§ Hel I &1 I

Options:

3666049671, PO B, CIND

3666049672, AT A, B C
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$dd B 3R D

Pdd A BARD
366694967/4.

Question Number : 77 Question Id : 3666943097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the major product from the following reaction.

0
1) MeMgBr/Cul
é
2) nPrl

Options:

H(O) Me

3666949675. '

()
Me

3666949676. Me

3666949677. ~Me

3666949678.
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Me
\?j< -
Me

Question Number : 77 Question Id : 3666943097 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Fofefad &rf“uﬁwﬁwgam GAREIE |

1) MPPﬂEHl.’"{ ul
2 T1I’r|

Options:

HO Me

()
\/\d'\ﬂ{x
Me
()
3666949677. Me
v@““
Me

366694967/8.

366694967/5.

366694967/6.

~
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Question Number : 78 Question Id : 3666943098 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The strongest acid from the following 1s

Options:

366694967/9.

3666949680.

g CH,

3666949681.

3666949682.

Question Number : 78 Question Id : 3666943098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

froferfad o O yeadw sna 8
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Options:

OH

I N
3666949679.

OH

i ~C
3666949680.

OH

3666949681.
OH

3666949632.

Question Number : 79 Question Id : 3666943099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

List 1 List 11

Natural Amino acid | One Letter Code
(A)  Arginine (I D
(B) Aspartic acid (I) N

(C) Asparagine (IIT) A
(D) Alanine (IV) R
| ISP . (TS B T M . CN— L | NN |, (S S I W
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Options:

3666949683, Y — IV, (B) - L (C) - IL, (D) — 111

3666949684, NV — L (B) - L (C) -1, (D) - IV

3666949685, Y~ (B) - UL (O -1V, () -1l

aece0a0ege. W -1V, (B) -1 (C) - TII, (D) - 11

Question Number : 79 Question Id : 3666943099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 1 1Y gAferd H
ﬂiﬁ—lﬂ@ﬁﬁ?mﬁm ﬂ\?:ﬁ_”]gai&{mﬁg
A. \}”ﬁ%:ﬁ:[ I D
B.  Uwfide 3 . N
c. UERWH m. A
D. U@l V. R
A 130 Y fdheul § I Wl I &1 94:
Options:

3666949683, W) — 1V, (B) =L (C) - IL, (D) 111

3666949684, A — 1L (B) - L (C) -1, (D) - TV
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3666949685, Y~ L B 1L (C) -1V, (D) - II

3666949686, V-V, (B -1 () -1, (D) -1l

Question Number : 80 Question Id : 3666943100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(niven below are two statements:

Statement I: Morphine i1s a narcotic analgesic. It helps in relieving pain
without producing sleep.

Statement 11: Morphine and its dermvatives are obtained from opium
POPPY.

In the hght of the above statements, choose the correct answer from the
options given below

Options:

3666949687 Both Statement | and Statement 1l are true

3666949638, Both Statement | and Statement 11 are false

3666949689 Statement [ 1s true but Statement 11 1s false

3666949690. Statement | is false but Statement 11 1s true

Question Number : 80 Question Id : 3666943100 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRAFFE @ WE

&Y |: A Ush WU UIsTer! g Ug fan Hig @ dis1 4 g <d g
HY 11: A 3R 39 7 AfUgH i A U S € |

R 130 T HYAl & YR R A1 38 71 [abel H§ 9 9gl S| I I

Options:

HYT 1 SR BYT NS T §
3666949687.

HY | R FYF 1 GHT AT €
3666949688. i €

HYF | T 3R FYF 1| SITAT ©
36669496809.

HYA | 3T 3R FYT 1 9T ¢
3666949690.

Chemistry Section B

Section Id : 366694171
Section Number : 6
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : D
Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 366694171
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 3666943101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of crystal systems from the following where body centred unit cell
can be found, 18

Cubie, tetragonal, orthorhombic, hexagonal, rhombohedral, monoclinie,
triclinic

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943101 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofafag # ¥ fewed 33 &1 T & Wel W 3(d: diad Uehd HIRG
Uit o1 Wbl € O, fgumeene, fawreiane, ey, Bamane, uedans,
ECGIE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943102 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of species having a square planar shape from the following 1s

Xels, SFy, 51Fs, BF, BrF,, [Cu(NHa)4|*, [FeCla]*, [PtCL|*

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 82 Question Id : 3666943102 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFraferad @ & avf Jwdel SR dTel Sl & W= g

XeFi, SFy, SiFs, BF;, BrF; , [Cu(NHs)i|2*, [FeCL]2, [PtCL]>

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

a
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Question Number : 83 Question Id : 3666943103 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the following data
Heat of combustion of Ha(g)

Heat of combustion of C(s)
Heat of combustion of CoeHsOH(I)
The heat of formation of CoHzOH(l) 18 (=)

mteger).

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

L

—
—

~241.8 kJ mol-!
~393.5 kd mol-!

-1234.7 kJ mol-?

kd mol! (Nearest

Question Number : 83 Question Id : 3666943103 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad sifesi W e ¢

Ha(g) @1 T84 HT = —241.8 kJ mol-!

Ci(s) D 81 F™I = —393.5 kJ mol-!

CoHs0H(1) BT G849 ™I = —-1234.7 kJ mol-!

CeH;0H() & [av= 1 (-)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Avmewnrave Tviurma o

Crniial

kJ mol- &1 (Fidead quria)

~
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Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943104 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following pairs of solution which will be isotonic at the same
temperature. The number of pairs of solutions 1s [ are

A. 1 M aq. NaCl and 2 M aq. urea

B. 1 M aq. CaCls and 1.5 M aq. KCI

C. 1.5 M aqg. AlCly and 2 M aq. Na250,
. 25 M aq. KCl and 1 M aq. Al:(S504);

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Correct Marks : 4 Wrong Marks : 1
Fafafed fdeaa sist 1 wF & Sifd 39H v ) SHRER) g
A 1M ST Nacl 3R 2m e gl
B. 1MW CaCly 3R 1.5M W@ KCl
C. 1.5M Qg AlCl: 3 2M STt NaSOs
D. 2.5M Sdld Kl 3R 1M ST Al(SO s
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Question Number : 85 Question Id : 3666943105 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equilibrium composition for the reaction PCls + Cl: = PCls at 298 K is
given below:

[PCly)eq = 0.2 mol L, [Cly] wq = 0.1 mol L1, [PCls]eq = 0.40 mol L

If 0.2 mol of Cl: is added at the same temperature, the equilibrium
concentrations of PCls is x 10-2 mol L-?

CGhiven: K. for the reaction at 298 K 1s 20

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Question Number : 85 Question Id : 3666943105 Question Type : SA Calculator : None
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298 K dI9 U1 3{fHfehar PCL + Cl. — PCl; &1 Ira®] Ucdh
i &g %:
[PClsleg = 0.2 mol L1, [Clz2] eg = 0.1 mol L, [PCls]eq =0.40 mol L1

gfe A 919 TR cl, T 0.2 JAld STAT dl igawl W pcls 1 Jr<dl
x 102 mol L-1 8T

fer 7T 8: 298 K d1Y W 3HNTHar &1 K. 20 B
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Question Number : 86 Question Id : 3666943106 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standard reduction potentials at 298 K for the following half cells are
given below:

NO; +4H" +3e" - NO(g) +2H,0 E'=0.97V

V¥ (aq)+2e —V E'=-1.19V
Fe''(aq)+3e — Fe E'=-0.04V
Ag'(aq)+e” — Ag(s) E'=0.80V
Au*(aq)+3e — Au(s) E'=1.40V

The number of metal(s) which will be oxidized by NO, in agueous solution

1S

Response Type : Numeric
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Possible Answers :
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Question Number : 86 Question Id : 3666943106 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
298 k a9 R Agiaiad s 9d &1 9EE fugg4 faddg g fear mar &:

NO; +4H" +3e - NO(g) +2H,0 E’'=0.97V

V(aq)+2e —»V E'=-1.19V
Fe"(aq)+3e — Fe E' =-0.04V
Ag'(ag)+e — Ag(s) E'=0.80V
Au'(aq) + 3e — Au(s) E'=1.40V

Wi [adgd | NO, gRT S{Taldhd UTd/rdsil &l &A1 gril?
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Question Number : 87 Question Id : 3666943107 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of collmdal systems from the following, which will have ‘higuid
as the dispersion medium, 1s

em stones, paints, smoke, cheese, milk, hair cream, insecticide sprays,
froth, soap lather
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Question Number : 87 Question Id : 3666943107 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Fafafad 3 4 Farsel o3l &1 4e g forgw afargur Arerm g3 8| 3
TR, Uoly, 3T UIR, G4, 9Td1 DI hiF, SIS §, U, 9igd & 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943108 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an ice erystal, each water molecule 1s hydrogen bonded to
neighbouring molecules.
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Question Number : 88 Question Id : 3666943108 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g% fobeed 1 Udd S U] 394 gSTt Sl I grEgreH &Y s B
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Question Number : 89 Question Id : 3666943109 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following. the number of compounds which will give positaive
1odoform reaction 1s

(a) 1-Phenylbutan-Z-one

(b)  Z-Methylbutan-2-ol

(c) J-Methylbutan-2-ol

(d) 1-Phenylethanol

(e) 3 3-dimethylbutan-2-one

(f) 1-Phenylpropan-2-ol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Question Number : 89 Question Id : 3666943109 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafefad § 3 eFres srSIeH siffear 34 are At &t T

(E) 3,3- SI3HIYTeHH - 2- 3

(F) 1- BMHATUNH - 2- 3T
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Question Number : 90 Question Id : 3666943110 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of 1someric aromatic amines with molecular formula C<H1N, which

can be synthesized by Gabriel Phthalimide synthesis 1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Question Number : 90 Question Id : 3666943110 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUIfdd FF CsHi N & GHEd] WA S THIHT & He ¢ forg Mo
UftHISS SXeyul § Heeiftd fasar s addar e
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